
Correction des exercices sur les tableaux

1. #inc lude <s t d i o . h>
#inc lude <s t d l i b . h>

void rempl i r ( i n t ∗∗ pasca l , i n t longueur ){
f o r ( i n t i = 1 ; i < longueur ; i++){

pasca l [ i ] [ 0 ] = 1 ;
pa s ca l [ i ] [ i ] = 1 ;
f o r ( i n t j = 1 ; j < i ; j++)

pasca l [ i ] [ j ] = pasca l [ i −1] [ j −1] +
pasca l [ i −1] [ j ] ;

}
}

void p r i n t ( i n t ∗∗ pasca l , i n t longueur ){
f o r ( i n t i = 0 ; i < longueur ; i++){

f o r ( i n t j = 0 ; j <= i ; j++){
p r i n t f (”%d ” , pasca l [ i ] [ j ] ) ;

}
p r i n t f (”\n ” ) ;

}
}

i n t main ( ){
p r i n t f (” Entrez l a t a i l l e du t r i a n g l e de

Pasca l :\n ” ) ;
i n t longueur ;
s can f (”%d” , &longueur ) ;

i n t ∗∗ pasca l ;
pa s ca l = mal loc ( ( longueur+1) ∗ s i z e o f ( i n t ∗ ) ) ;
f o r ( i n t i = 0 ; i < longueur ; i++){

pasca l [ i ] = mal loc ( ( longueur+1) ∗
s i z e o f ( i n t ) ) ;

f o r ( i n t j = 0 ; j < longueur ; j++){
pasca l [ i ] [ j ] = 0 ;

}
}
pasca l [ 0 ] [ 0 ] = 1 ;

r empl i r ( pasca l , longueur ) ;

p r i n t ( pasca l , longueur ) ;

f o r ( i n t i = 0 ; i < longueur ; i++){
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f r e e ( pa sca l [ i ] ) ;
}
f r e e ( pa sca l ) ;

r e turn EXIT SUCCESS ;
}

2. i n t pal indrome ( char ∗ c a r a c t e r e s ){
char ∗ p1 = ca rac t e r e s , ∗p2 = ca r a c t e r e s ;
whi l e (∗ ( p2+1))

p2++;

whi l e (∗p1 ){
i f (∗p1 != ∗p2 )

re turn 0 ;
p1++;
p2−−;

}
re turn 1 ;

}

3. void t r i ( i n t ∗ tableau , i n t longueur ){
f o r ( i n t i = 0 ; i < longueur ; i++){

f o r ( i n t j = 0 ; j < i ; j++){
i f ( tab leau [ i ] < tab leau [ j ] ) {

i n t tmp = tab leau [ j ] ;
tab leau [ j ] = tab leau [ i ] ;
tab leau [ i ] = tmp ;
}

}
}

}

4. void proc ( f l o a t ∗ t , i n t n){
f l o a t sum = 0 . 0 ;
f o r ( i n t i = 0 ; i < n ; i++){

sum += t [ i ] ;
t [ i ] = sum ;

}
}
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5. unsigned p r e f i x e ( i n t ∗ t1 , i n t ∗ t2 , i n t t a i l l e ){
unsigned n ;
f o r (n = 0 ; n < t a i l l e && t1 [ n ] == t2 [ n ] ; n++);
re turn n ;

}

6. unsigned c h i f f r e s ( char ∗ c ){
unsigned t o t a l ;
f o r ( t o t a l = 0 ; ∗c ; c++)

i f (∗ c >= ’0 ’ && ∗c <= ’9 ’ )
t o t a l += ∗c − ’ 0 ’ ;

r e turn t o t a l ;
}
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